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SPECIAL Sample Paper – 2009

Class – X

Subject – MATHEMATICS
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Marks: 80
General Instructions:

1. All questions are compulsory.

2. Section  A  --  10 questions of  1  mark  each, 

     Section  B --    5 questions of   2 marks  each,

     Section  C  --  10 questions of   3 marks each 

     Section  D  --   5 questions of    6 marks each. 
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SECTION – A

1. Give an example of an irrational number raised to an irrational power yielding a rational number.
2. The points M(-1, -2), N(3, 0), P(4, 6) and Q(0, 4) form a quadrilateral. What type of quadrilateral is it?.

3. cos t = 2 tan t. Find the value of sin t.  
4. If 2, ½ are the zeros of  px2+5x+r, prove that p= r.
5. Show that the roots of the equation x² + 2(a + b) x + 2(a² + b²) = 0 are not real.
6. Write the next two terms of the AP: √8, √18, √32,………
7. [image: image8.emf]D, E, F are the mid points of the sides BC, CA and AB respectively of a triangle ABC. Prove that  (ABC = 4  (DEF (areas). 

8. A 1.5 m long  road roller covers a distance of 3.14 m  in its one rotation, find its CSA.
9. The average height of 30 students of a class was found to be 150 cm. It was detected later that 165 cm was wrongly copied as 135 cm for computing the mean. Find the correct mean 

10. Two friends A and B appeared for an interview for two vacancies. The probability of A’s selection is 1/3 and that of B’s selection is 1/2  Find the probability that i) both of them will be selected (ii)  none of them will be selected
SECTION – B

11. Solve the equations                                                    (a – b)x + (a + b) y = a² – 2ab – b²           .                                (a + b)(x + y) = a² + b² 
[image: image9.emf]12. In figure  S and T trisect the side QR of a right triangle PQR.      Prove that          8 PT² = 3PR² + 5 PS².

 .
13.  The vertices of a triangle are (—1, 3); (1, —1) and (5, 1). Find the lengths of medians through vertices (—1, 3) and (5, 1).

14.  In a flight of 600 Km, an aircraft was slowed down due to bad weather. The average speed for the trip was decreased by 200 Km/hr. and the time of flight increased by 30 minutes.  Show that the the duration of the flight. was 1 hour only
15. The following table gives weekly wages in rupees of workers in a certain commercial organization. The frequency of class 49-52 is missing. It is known that the mean frequency distribution is 47.2. Show that  the missing frequency. is 44
Weekly Wages (Rs.) 40-43 43-46 46-49 49-52 52-55
Number of workers        31      58     60       ?      27
SECTION – C

16. . How many prime numbers are of the form 10n + 1, where n is whole number such that 1 ≤ n < 10
17. If (x + a)(x + b)(x + c) ≡ x3 – 9x2 + 23x – 15, find a + b + c,   1/a +1/b +1/c  and  a2 + b2 + c2.
.
18. A tree breaks at a point 24 m above its foot and its top touched the ground at a distance equal to the square root of its total height. Find its total height..

19. Find the coordinates of the vertices of a triangle, the coordinates of the mid-points of whose sides are  
[image: image14.emf]. 

[image: image10.emf]
20.  Find the ratio of the volumes of a cube and a cuboid if the side of the cube is equal to length of the cuboid and the length, breadth and height of the cuboid are in the ration 3 : 2 : 1
21. [image: image11.emf] 

22. [image: image12.png]Prove that T
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 OR, Construct the pair of tangents drawn from a point, 5 cm away from the center of a circle of radius 2 cm. Measure the lengths of the tangents.  .

23. [image: image13.png]


In adjoining figure, PQ and RS are two parallel chords of a circle and the lines RP and SQ meet at O on producing  Prove that OP=OQ
SOLVE  [image: image2.png]x=1
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+ 36 = 0
SECTION - D

24. A tower in a city is 150 m high and a multistoried hotel at the city centre is 20 m high. The angle of elevation of the top of the tower at the top of the hotel is 5˚. A building, h metres high, is situated on the straight road connecting the tower with the city centre at a distance of 1.2 km from the tower. Find the value of h if the top of the hotel, the top of the building and the top of the tower are in a straight line. Also find the distance of the tower from the city centre.
(Use tan 5˚ = 0.0875; tan 85˚ = 11.43)  

25. If the mean of the following data is 18-75 find the value of p:                                                                                                   X  
10       15        P         25        30      Total                                      F  
5 
10 
7 
8 
2 
32        
26. ABC is a right angle triangle at C ,If p be the length of the perpendicular from C to AB and AB = c, BC = a , CA = b, then prove that                                                       (a). pc = ab                         (b) [image: image5.png]



27. 
.

NB Students may send emails [ no phone pl] for any doubts to     aloke60@yahoo.co.in
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